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Exam Style Questions *

Mean, Median, CorbettmOtths
Mode and Range
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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NS J

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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14 James has a spinner that has sections labelled 1 to 5.
He spins the spinner 10 times.

Here are his scores.

1 4 4 2 3 4 5 1 4 A

(a) Find the mode.

(1)
(b) Work out the mean.

(2)
(c) Work out the range.

(2)

2. Simone records the number of minutes she spends on her mobile phone over
7 days.
8 5 13 6 24 19 10
Find the median.
................... minutes

(2)



3. Here are the ages of 9 children at a birthday party.

i0 12 13 10 M 14 15 10 12

(a) Find the mode.

(1)
(b) Find out the median.

(2)
(c) Work out the range.

(2)

(d) Work out the mean.



i~

A football team played six games.
Here are the number of goals they scored in each game:

6 0 3 2 2 5

(a) Work out the median number of goals scored.

(b) Work out the mean number of goals scored.

The football team play one more game.
The mean number of goals scored increases to 4.

(c) Work out the number of goals scored in the seventh game.



il ©

Miss Jones gives her class a test.
The test is out of 40 marks.

Here are their scores.

31 29 20 35 32 38

(a) Work out the mode.

(b) Work out the median.

(c) Work out the range.

The pass mark for the test is 75%.

(d) How many students pass the test?

32

.........................



6. Hannabh is recording the number of letters in each word in an article.

These are the first ten lengths.

3 4 5 6 2 4 3 7 3 6

(a) Work out the median.

(2)
(b) Calculate the mean.
(2)
The 11th word has 4 letters.
(c) Tick the box which describes what affect this will have on the mean.
The mean will The mean will The mean will
decrease remain the same increase
(1)

(d) Tick the box which describes what affect this will have on the median.

The median will The median will The median will
decrease remain the same increase

(1)



N

Shown below are five cards which are arranged in order from smallest to largest

5

The range of the cards is 4.
The median of the cards is 8.
The mean of the cards is 7.

Work out the 4 missing numbers.



8 boys and 8 girls from a class run 100m.

The times taken, to the nearest second, for each girl are:
15 20 24 18 19 21 26 29
The mean of the boys’ times is 25 seconds.
The range of the boys’ times is 14 seconds.
Thomas says that “the boys in our class are faster than the girls.”

Is he correct?

(5)



9. A set of six numbers have a median of 5.
= All of the numbers are even.
@ The range of the numbers is 6.

The mode of the numbers is 4.

Write down a possible set of six numbers.
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You may use tracing paper if needed

-

Guidance

1. Read each question carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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i James has a spinner that has sections labelied 1 to 5.
He spins the spinner 10 times.

Here are his scores.
1 4 4 2 3 4 5 1 4 1

(a) Find the mode.

(b) Work out the mean.

1+4+4+2+3+4+5+1+4+1=29
29%10=2.9
2.9

(c) Work out the range.

5-1=4

2. Simone records the number of minutes she spends on her mobile phone over

- 7 days.

8 5 13 6 24 19 10

Find the median.

2% % 10 % 13 %

................... minutes

()



3. Here are the ages of 9 children at a birthday party.

i0 12 13 10 1 14 15 10 12
(a) Find the mode.

(b) Find out the median.

Yo 1q fo 12 1% 1y B¢ o

(c) Work out the range.
15-10=5

(d) Work out the mean.

10+10+10+11+12+12+13+14 +15 = 107
107 + 9=11.88888... 11.89 to Z.‘QA?HC.?.TQ.'..P'GCQS

(2)



o

A football team played six games.
Here are the number of goals they scored in each game:

6 0 3 2 2 5

(a) Work out the median number of goals scored.

Rr23%% .25

(b) Work out the mean number of goals scored.
6+0+3+2+2+5=18
18+ 6=3 3

The football team play one more game.
The mean number of goals scored increases to 4.

(c) Work out the number of goals scored in the seventh game.

One more game, would be the 7th
7 x 4 = 28 goals in fotal

They have scored 18 so far 10
28 -18 =10

@



5.

Miss Jones gives her class a test.

The test is out of 40 marks.

Here are their scores.

31 29 20 35 32 38 32

(a) Work out the mode.

k.

RO

(b) Work out the median.
20 29 31 32 32:35 38
32
..................... (2)
(c) Work out the range.
38-20=18 18

The pass mark for the test is 75%.

(d) How many students pass the test?

75% of 40 = 30
20 29 31 32 32 35 38



6. Hannah is recording the number of letters in each word in an article.

These are the first ten lengths.

3 4 5 6 2 4 3 7 3 6

(a) Work out the median.

2333445667

(b) Calculate the mean.

2+3+3+3+4+4+5+6+6+7 = 43

43-10=43 A3
e

The 11 word has 4 letters.

(c) Tick the box which describes what affect this will have on the mean.

The mean will The mean will The mean will
decrease remain the same increase

& O O

(d) Tick the box which describes what affect this will have on the median.

(1

The median will The median will The median will
decrease remain the same increase

O = O
RTINS



Shown below are five cards which are arranged in order from smallest to largest

5| (5| 18] 19| |1

The range of the cards is 4. }\M

The median of the cards is 8. M|

Themeanonhecardsiiz._ lnDS \J(J _*_o 5)(1:35

Work out the 4 missing numbers.

S+ 839 = 9
75 —-da =13

i



8. 8 boys and 8 girls from a class run 100m.
Q/ The times taken, to the nearest second, for each girl are:
15 20 24 18 19 21 26 29
The mean of the boys' times is 25 seconds.
The range of the boys' times is 14 seconds.
Thomas says that “the boys in our class are faster than the girls.”

Is he correct?

glrls mepe: M-S MMS
8((‘3 (wﬁe'. [G SM;

No. The mean time for the girls to run 100m is
21.5 seconds, which is less than the mean fime
for the boys. Therefore on average the girls
were faster. The ranges for both the boys and
girls are equal which suggests there are no
outliers that are affecting the mean.

(5)



9.

-

A set of six numbers have a median of 5.
All of the numbers are even.

The range of the numbers is 6.

The mode of the numbers is 4.

Write down a possible set of six numbers.
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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1. For every 50 students at Hightown School, 29 are girls.

(a) Work out 29 as a percentage of 50.

......................... %o
(2)
1000 students attend Hightown School.
(b) How many girls attend Hightown School?
(2)
David receives £5 from his Grandmother.
He gives £2 to his sister.
Write down £2 as a percentage of £5.
......................... %
(1)
3. Roger scores 6 out of 8 in a quiz.
Work out his score as a percentage
......................... %
(1)

© Corbettmaths 2015



4, Susan brings 500 flapjacks to a local fair.
% Susan sells 450 of the flapjacks.

What percentage of the flapjacks did Susan sell?

......................... %
(2)
5, Write 94 out of 200 as a percentage.
......................... %
(2)
6. Colin gains 13 out of 20 in a class test.
Work out his mark as a percentage
......................... %
(2)
Work out 15 as a percentage of 80.
......................... Y%
(2)

© Corbettmaths 2015



Express 126 as a percentage of 360

There 222 children at the match.

Write 222 out of 600 as a percentage.

10.  Write 42 as a percentage of 64

© Corbettmaths 2015

There are 600 people at a football match.

(2)



11.  Work out £153 as a percentage of £450

[==]

=,

(& 4

12.  Bryan buys a car costing £15000.
== He pays a deposit £6000.

What is £6000 as a percentage of £150007?

13. There are 400 beads in a bag.
140 of the 400 beads are yellow.

Work out 140 as a percentage of 400.

© Corbettmaths 2015

(2)

(2)

(2)



14. James scored 30 out of 90 in a music test.
» He scored 48 out of 150 in a drama test.
{ James scored 35 out of 120 in an art test.

In which test did James score the highest percentage?
You must show your workings.

(4)
15.  The price of a DVD player is £160
In a sale the price is decreased by £28.
Work out the decrease as a percentage of the original price.
......................... %
(2)

© Corbettmaths 2015



16. The price of a cinema ticket is reduced from £8 to £7.50

Calculate the reduction as a percentage of the original price.

......................... %
(3)
, : 6
17.  The population of a country is 2.85 x 10
5
The number of people that own a rabbit is 1.24 x 10
Calculate the percentage of the population that own a rabbit.
......................... %
(3)

© Corbettmaths 2015
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Exam Style Questions
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

N | Y
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Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question. .

4. Check your answers seem right.

5. Always show your workings
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1. For every 50 students at Hightown School, 29 are girls.

(a) Work out 29 as a percentage of 50.

19 59
= 7o 5
ov Y %
(2)
1000 students attend Hightown School.
(b) How many girls attend Hightown School?
59 _ 540
il - —
{00 Telble
..... 560...
(2)

David receives £5 from his Grandmother.
He gives £2 to his sister.

Write down £2 as a percentage of £5.
& _ b 40
p T = /r
5" |0 [00

(1
3. Roger scores 6 out of 8 in a quiz.
Work out his score as a percentage
SR T-Ts
/é > 2 Z}
¥ oo
75

......................... Yo
(1)

© Corbetimaths 2015



Susan brings 500 flapjacks to a local fair.
Susan sells 450 of the flapjacks.

What percentage of the flapjacks did Susan sell?

00 100
o
(2)

5. Write 94 out of 200 as a percentage.

— N

200 |00 )
0N T
(2)
Colin gains 13 out of 20 in a class test.
Work out his mark as a percentage
i . 65
T
10 100
.......... };/
(2)
7. Work out 15 as a percentage of 80.
g O
1S90 01875
o182 75 X[ 00 /2/"77_5/“
......................... %
(2)

© Corbettmaths 2015



8. Express 126 as a percentage of 360

fLb

1)

359

......... EET
(2)
There are 600 people at a football match.
There 222 children at the match.
Write 222 out of 600 as a percentage.
2332 _  3F
f . F—-‘/—
600 /00
_________ 57
(2)
10.  Write 42 as a percentage of 64
—
b Y
462240 = 0 45625
£5- 425
(2)

© Corbettmaths 2015



Work out £153 as a percentage of £450

153
w50
L
....... SH ..o
(2)
Bryan buys a car costing £15000.
He pays a deposit £6000.
What is £6000 as a percentage of £150007
000
é 0 a /6” - IZ
=l
)5 000 o 5
J
........... Q%
)
13. There are 400 beads in a bag.
2 140 of the 400 beads are yellow.
Work out 140 as a percentage of 400.
/40 (
/ ~ ,//// < /7:.
oo Go Ay
......... 25
(2)

© Corbettmaths 2015



James scored 30 out of 90 in a music test.
He scored 48 out of 150 in a drama test.
James scored 35 out of 120 in an art test.

In which test did James score the highest percentage?
You must show your workings.

Mysi ﬂrma/ ﬁi
417330/0 3;% &quﬂ%

The price of a DVD player is £160
~In a sale the price is decreased by £28,

~ Work out the decrease as a percentage of the original price.

AN
/60

o

0.175

7 0T

qam

© Corbettmaths 2015



16. The price of a cinema ticket is reduced from £8 to £7.50

Calculate the reduction as a percentage of the original price.

0.0 %ts

......................... %
(3)
! , 6
17.  The population of a country is 2.85 x 10
The number of people that own a rabbit is 1.24 x 105
Calculate the percentage of the population that own a rabbit.
| fe & = :
L QUx10 = 365K = 0 Q4350677 .
—
(435
D
(3)

© Corbettmaths 2015
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Exam Style Questions

Percentages:

of an amount (calculator) COrbettmOLthS

increasing/decreasing by
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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-

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4, Check your answers seem right.

5. Always show your workings
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Calculate 7% of 340

(2)
Find 56% of $8200
B e
(2)
Calculate 83% of 9000
(2)
Calculate 3.5% of 140g
......................... g
(2)
Find 18.2% of £25,000



6. Increase £2400 by 9%
A
(2)
7. Increase 40 miles by 43%
......................... miles
(2)
8. Decrease 18000 by 6%
(2)
9. Decrease 712kg by 24%
......................... kg
(2)
10. Increase 7900 by 37.4%

.........................



11.  Oliver’s salary is £18,000 and he is due to get an increase of 4%.
How much will this increase be?

12.  Anew TV is priced at £320
In a sale it is reduced by 45%

Calculate the sale price

13. Joanne sees this special offer in a shop.

Special Offer

iPod £189
Headphones £25

Buy both items and receive a 4% discount

Joanne buys both items.

How much does she pay?



14. Barry earns £1300 a month. He spends 30% of this money on rent and 12% on
bills.
How much of the £1300 has he left?
3)
15.  Acarton of orange juice contains 540ml.
A special offer carton contains an extra 35%.
How many millilitres of orange juice are in the special offer carton?
......................... ml
(3)
16. There are 52800 fans at a football match between Rovers and City.

37% of the fans support Rovers.

How many fans at the match support City?



17.  In 2000 the population of a country was 4,580,000
By 2015, the population had increased by 18%

Work out the population in 2015

18.

A vintage car was bought for £9,400
Since then the value of the car has increased by 29%

Calculate the value of the car.



19. James is buying a table.
He finds the same table for sale in two different shops.
Table World Tables'R'us
£140 £120
Prices include VAT Prices do not include VAT
When buying the table, the rate of VAT was 17.5%
Which shop is better value?
You must show your working.
3)
20. Harriet travelled from Bath to Cardiff.
Her average speed was 58 miles per hour.
There is traffic on the return journey.
Her average speed is reduced by 23%
Work out the average speed on the return journey.
......................... mph



21.

Georgina needs to buy petrol for her car.

Her car can hold 70 litres of petrol.

There are already 20 litres of petrol in the tank.
Georgina is going to fill up the petrol tank.

The price of petrol is 115.9p per litre

Georgina has a voucher that gives her 3% off the price of petrol.

How much does Georgina have to pay for the petrol?



22.  The table gives information about the number of people voting for each party at

an election.

Party Number of Votes
Gold Party 12598

Pink Party 9112

Brown Party 20059

Purple Party 4466

There are 52852 people who can vote

The target was that 88% of people would vote.

Was the target met?

(3)



23.

A ball is dropped from a height of 3m and is allowed to bounce repeatedly.
Each time it rises to a height which is 80% of the height it fell from.

What height does the ball rise to after the second bounce.

24.

James bought a house.
In the first year the value of the house decreased by 10%.
In the second year the value of the house increased by 10%.

Is the house worth more, less, or the same as what James paid for it?
Explain your answer.



25. Cerys wants to invest £4000 for two years.

Banks'R'us The Best Bank
Compound Interest Compound Interest
6% for the first year 5% for the first year
1.5% for each extra year 2.5% for each extra year

Southern Bank
Compound Interest

7% for the first year
0.5% for each extra year

At the end of two years, Cerys wants to have as much money as possible.

Which bank should she invest her £4000 in?
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question. -

4. Check your answers seem right.

5. Always show your workings
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Calculate 7% of 340

1 = 340 =100 = 7.4 o 340 X007
7‘0/0‘ B’fo/f B

....... 2379
(2)
Find 56% of l$8200 " gl@'() P 0. 5{
[0 = 5.2\
514 w/a T Q/f;’gi
5. 904 .
(2)
Calculate 83% of 9000 an 9000 X 0- g5
(s * 10
§39, = H70
...... 2470
(2)

Calculate 3.5% of 140g sy ; PN
- 4 .

—

3"5_0/5: ,L,€

.......... é/—gzg
(2)
Find 18.2% of £25,000 o 0’/5»*";,\ )( (;Z«'-’}'(?OO
1% = 250
18- 3% = L1550
£ 4550 ..



6.  Increase £2400 by 9% or &400X 109
[ 9% = Ay
99> /4 QY00+ 314
£ doblb...
(2)
7. Increase 40 miles by 43%
) > 09 or Y0 X |43
45%:/32_;)\ o mm rwm: Em T e
G4OFI 22
........ éi.;.z..:.%u...miles
(2)
8. Decrease 1800(} k:/y 6:/0/%(7 BE / ,?000 )(0-9 {/‘
Lo, > 1060 /8000~ 080
..... [499....
(2)
9. Decrease 712kg by 24% ar 7-/1 L0 ?é
19, < 12
205, » 17035 FIR-[|70:.88
..... 54//'/‘;Lkg
(2)
10. Increase 7900 by 37.4%

%=
V2.0% > AI5 4.

7900 +295¢-4

or H00 x .37

.........................




1.

Oliver’s salary is £18,000 and he is due to get an increase of 4%.

How much will this increase be? [9000X (.0 0
[% > 180 & Wi
LE'C/O - 7‘()\0
£;Z‘)-0 ...........
(2)
12.  Anew TV is priced at £320
In a sale it is reduced by 45% -
or 320X0.55
Calculate the sale price
[% > 52
45% = 1%
390 -1t = e ...
()
13. Joanne sees this special offer in a shop.
Special Offer
iPod £189
Headphones £25
Buy both items and receive a 4% discount
Joanne buys both items. o 2/¢ X qu{

How much does she pay?
(84 +2.9 = Y
/“/a s -l'lét _
W, 556 M-8

-------------------------



14.  Barry earns £1300 a month. He spends 30% of this money on rent and 12% on

bills.
o 1300 x 05 2 390
How much of the £1300 has he left? 1290 % 022 1578
&6'\# 4//7 /% A )
[ ! 300-390-156 2 754
% = |3 W = 17 7t

20,2 0 )1, = 156
1300 - 3401546

15.  Acarton of orange juice contains 540ml.
A special offer carton contains an extra 35%.

How many millilitres of orange juice are in the special offer carton?
. @ ¢ Shox 135
l 6/0 ~ 5'.[_/, o jﬂ #
%5 o/, = 169
s4oy 179 7299

16. There are 52800 fans at a football match between Rovers and City.
37% of the fans support Rovers.

How many fans at the match support City?

(3% Soport <l . S100%0-43

/‘/a- - 59\37
(39, - 334§




17.  In 2000 the population of a country was 4,580,000
By 2015, the population had increased by 18%

Work out the population in 2015

4589000 X |18

\S

19, = k5500
19, = 82400

SU0 40
(3)
18.
Avintage car was bought for £9,400
Since then the value of the car has increased by 29%
Calculate the value of the car.
1o, = 94 N G400 X .29
249, @ AFab
(204



19. James is buying a table.

He finds the same table for sale in two different shops.

Table World Tables'R'us
£140 £120
Prices include VAT Prices do not include VAT
When buying the table, the rate of VAT was 17.5% [, = [» 7
1754, ~ &l
Which shop is better value?
You must show your working.
120 X I 175 .~ f/[f/ witl L/ﬂgﬂ '
e
’7144’3 {/‘)mM
3)

20. Harriet travelled from Bath to Cardiff.

Her average speed was 58 miles per hour.

There is traffic on the return journey.

Her average speed is reduced by 23%

Work out the average speed on the return journey.

58X 0-FF
N
1% =059

23% = 1334 |
s~ |3:3Y Gl 44 Fift




21,

Georgina needs to buy petrol for her car.

Her car can hold 70 litres of petrol. ﬁ /«O //f
There are already 20 litres of petrol in the tank. Nea § Y 2%
Georgina is going to fill up the petrol tank.

The price of petrol is 115.9p per litre
Georgina has a voucher that gives her 3% off the price of petrol.

How much does Georgina have to pay for the petrol?

S0 x Nsg = 55y o £5715

| % = O‘SV@?
29 = | F385

o swes L1F4 [ 8133

Fs7t45 - F 1 FH



22.  The table gives information about the number of people voting for each party at
an election.

Party Number of Votes
Gold Party 12598
Pink Party 9112
Brown Party 20059
Purple Party 4466
75td /fé(l:}g

There are 52852 people who can vote
The target was that 88% of people would vote.

Was the target met?

§94 o safsL = Y5007 /44507 or Usi)

Mo te @ﬁj Wb /u% /mfj//*

(3)




23.  Aballis dropped from a height of 3m and is allowed to bounce repeatedly.
Each time it rises to a height which is 80% of the height it fell from.

What height does the ball rise to after the second bounce.

st bonce = 300 X 0oF 2 b0 cm
Z"éé é&uﬂc@ = 2§ %0% = /‘?2 cml

......................... m
3)
24. James bought a house.
In the first year the value of the house decreased by 10%.
In the second year the value of the house increased by 10%.
Is the house worth more, less, or the same as what James paid for it?
Explain your answer.
1 fe hve cod £100,000 £ X
i yor = #90,000 /J Yo = 04X
e 7 ewr = 0-4¥ X |/
sk yer < #49,000 / |
(j = 099



25.  Cerys wants to invest £4000 for two years.

Banks'R'us The Best Bank
Compound Interest Compound Interest
6% for the first year 5% for the first year
1.5% for each exira year 2.5% for each extra year

Southern Bank

Compound Interest
7% for the first year
0.5% for each extra year

At the end of two years, Cerys wants to have as much money as possible.

Which bank should she invest her £4000 in?

%Mu5 lﬁl s yc”r fl/.llf()

Tle fei %Aﬂv /”yw - LU0
Z'"’OyW i’é[ngf

¢ Han W 7” = £4280
%w - AG30) U0

[
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Exam Style Questions

Compound Interest  CorbettmOiths

4 N

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

o J
- /

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

4 ™
Revision for this topic

www.corbettmaths.com/contents

Video 236
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1. Sebastian leaves £3000 in the bank for two years.
It earns compound interest of 2% per year.

Calculate the total amount Sebastian has in the bank at the end of the two
years.

2. Fiona leaves £1600 in the bank for four years.
It earns compound interest of 4% each year.

Calculate the total amount Fiona has in the bank at the end of the four years.

A car was bought for £18000.
Its value depreciated by 15% each year for the first three years.

What was its value at the end of the three years?

© CORBETTMATHS 2014



Sally bought a piano for £2200.
In each year the value of the piano increases by 11% of its value at the start of
that year.

(a) Find the value of the piano after one year.

 r
(2)

(b) Calculate after how many complete years the value of the piano will be at

least £3200.
......................... years
(2)
o Natalie invests £600 for 2 years at 10% per year compound interest.
How much interest does she earn?

B naman merssnmsnnennanan
(2)
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Jenny invests £400 for two years at 5% compound interest, paid yearly.
Tim says that the interest Jenny will receive will be £40.

Is Tim right?
Explain your answer.

3)
7. When a tennis ball is dropped, it bounces and then rises.
The ball rises to 60% of the height from which it is dropped.
The ball is dropped from a height of 2 metres.
(a) Calculate the height of the rise after the first bounce.
......................... m
(1)
(b) Calculate the height of the rise after the second bounce.
......................... m
(1)
The ball carries on bouncing, each time rising to 60% of the last rise.
(c) For how many bounces does it rise to a height greater than 20cm?
Show your working
(2)

© CORBETTMATHS 2014



The value of a television was £600 on 1st March 2013.
Every four months, the value of the television decreased by 8% of its value at
the start of that four months.

What was the value of the television on 1st March 2014?

AR
(3)
9, £5200 is invested at 2.8% compound interest per annum.
= , How many years will it take for the investment to exceed £7000.
......................... years
(3)
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10.  Aradioactive substance decays over time.
% » Every year its mass decreases by 14%.

How many years will it take for 500kg of the substance to decay to a mass less
than 200kg?

11.  Martyn has some money to invest and sees this advert.

Bank of Maths

Double your money in 15 years.

The average annual growth for your
investment is 4.5%

Will Martyn double his money in 15 years by investing his money with “Bank of
Maths?”

You must show your workings.
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12. James weighed 100kg.
His target was to weigh 80kg or less.
His weight decreased by 3% each month.

Has he achieved his target after six months?
Show your workings.

(3)
13.  Afish tank has sprung a leak, at the base of the tank.
5% of the water is lost every minute.
How much water is lost from the tank after ten minutes?
(3)
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Exam Style Questions

Compound Interest  Corbettm0iths

4 )

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

- J

.

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

Revision for this topic

www.corbettmaths.com/contents g o -
e

ideo 236
Video 236 o L

© CORBETTMATHS 2014




1. Sebastian leaves £3000 in the bank for two years.
== It earns compound interest of 2% per year.

Calculate the total amount Sebastian has in the bank at the end of the two
years.

Pt e AW T .
2% o Boo0= b0 2% & 20l0° 40
fl-20
£ 3040 x3 . 1%
p.oldl: 20
(2)
2. Fiona leaves £1600 in the bank for four years.

It earns compound interest of 4% each yeatr.

Calculate the total amount Fiona has in the bank at the end of the four years.

[boo X f-Ol//[* = g7 F?

e 187177
(3)
3. A car was bought for £18000.
Its value depreciated by 15% each year for the first three years.
What was its value at the end of the three years?
(3)
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Sally bought a piano for £2200.
In each year the value of the piano increases by 11% of its value at the start of
that year.

(a) Find the value of the piano after one year.

2200 x A+l

(b) Calculate after how many complete years the value of the piano will be at
least £3200.

Hj-«for = 3200411\ = 4L

2 yors = 12004 113 271061
3o yews = L2200 ¥ VILEE 3005‘%@% /
’ o...Luers
%350 75 (/ A

[[,Jexm > 2200 AN
—

Natalie invests £600 for 2 years at 10% per year compound interest.
How much i‘nteres’t does she earn? NJ
1

e

L5t

l e
[ 0% j lgo = 0 107 o [{0-= (4

Zlo s
T .

-~ LOO

T2

ﬁml'
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Jenny invests £400 for two years at 5% compound interest, paid yearly.
Tim says that the interest Jenny will receive will be £40.

Is Timright? Mo
Explain your answer.

d 9 o 400= F20 | T
fid e ;/o( o o coens ¥ ke
5%6“1 t’JfM °° //

Fu

(3)
7. When a tennis ball is dropped, it bounces and then rises.
The ball rises to 60% of the height from which it is dropped.
The ball is dropped from a height of 2 metres.
(a) Calculate the height of the rise after the first bounce.
12X 0b
ekt
(1)
(b) Calculate the height of the rise after the second bounce.
[+d X 0
DT
(1)

The ball carries on bouncing, each time rising to 60% of the last rise.

(c) For how many bounces does it rise to a height greater than 20cm?
5 -/’__‘,—————‘_-QF
Show your working

f éow\t(’/ -7 l‘lf&;

7 fourer = 0-Fdm |
D boonees /2 x0:6°) 7 0t {/‘ /wu/i(f’o
[ 1xodt) 2 0. 250 e

4 bounteo | )
S bonar [1x0b) = 015352
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8. The value of a television was £600 on 1st March 2013.
» Every four months, the value of the television decreased by 8% of its value at

the start of that four months.
e = 5 'd‘% 0’0 [1"’ «’”"?‘#ﬁ

What was the value of the television on 1st March 20147 ‘j

(00 x990 > 47?116

-------------------------

9. £5200 is invested at 2.8% compound interest per annum.
How many years will it take for the investment to exceed £7000.

5200 X 1.0256 = 525?-0573/{4}

7
5200 140 28 = [u¥s. 57l
s00 % 018" % (85354934
Stoo ¥ 4»07—5’" = Fous. #0493
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10.  Aradioactive substance decays over time.
) Every year its mass decreases by 14%.

How many years will it take for 500kg of the substance to decay to a mass less
than 200kg?

| c )
So0 x 0-8p = 33521
Spo X o-%‘»loz-;’,%.,.
spoy 0-867 =173 Q.

11.  Martyn has some money to invest and sees this advert.

Bank of Maths

Double your money in 15 years.

The average annual growth for your
investment is 4.5%

Will Martyn double his money in 15 years by investing his money with “Bank of
Maths?”

You must show your workings.

ot Mol /\Mi 100
100 % 1045 = 14353

M{i (Nf// /1_0% ()oa!/e /(.{a /?’Iaﬂ(y i /5 (/éﬁ-ra !/\/'%J\_
45% f‘l/j&fej
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12.  James weighed 100kg.
His target was to weigh 80kg or less.
His weight decreased by 3% each month.

Has he achieved his target after six months?
Show your workings.

00 X N?e = 43 .9\6773/?

No /\é !nn‘}/! /\,tﬂ/ﬂm ’

(3)

13.  Afish tank has sprung a leak, at the base of the tank.
= » 5% of the water is lost every minute.

How much water is lost from the tank after ten minutes?

1itd ~ 1007, [‘00)

wo X 0450 < st 87374 leff e N

00 -8 4737 = Lo 123 b
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

\_ /

N

Guidance

1. Read each question carefully before you begin answering it.
2. Don’t spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

( Revision for this topic
Secondary

Video 240
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Patrick invested money into a special savers bank account.
Each year money in the account earns 4% interest.

After one year, the total amount of money in the account was £291.20

How much did Patrick invest?

O
(3)
2, Ottawa is the capital city of Canada.
The population of Ottawa is 890,000.
This population is 2.5% of the total population of Canada.
What is the total population of Canada?
(3)
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3. Alamp is on sale at £22.05
This is a 10% reduction of the normal price.

What was the price of the lamp before the reduction?

s
(3)
4. Jacob buys a watch costing £84
This cost includes VAT at a rate of 20%.
How much is the watch without VAT?
et
(3)
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5. Jennifer has 54 DVDs.
» This number of DVDs is 80% more than the number she had last month.

How many DVDs did Jennifer have last month?

(3)
6. Lauren is given a 12% pay rise.
Her new salary is £24,080
What was Lauren’s salary before the pay rise?
S ——
3)
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7. A limited edition bag of flour contains 25% more than the standard bag.
The limited edition bag contains 650g of flour.

How much flour is in the standard bag?

......................... g
(3)
8. A fish tank sprung a leak and loses 45% of its water.
There is now 363 litres of water in the fish tank.
How much water was in the fish tank before the leak?
......................... I
(3)
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Mrs Reed buys a car costing £11760
This cost includes VAT at a rate of 20%.

How much is the VAT?

P ——
3)
10. In a sale the price of a sofa is reduced by 70%.
The sale price is £255
Work out the price before the sale.
)
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11.  There are 6000 people at an ice hockey match.
The announcer says this is exactly 40% more people that the previous match.

Explain why the announcer is incorrect.

(4)
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Reverse Percentages  CorbettmOtths

- D
Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

NG A

-

Guidance

1. Read each question carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

—
Revision for this topic
Secondary
Video 240
e
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1L Patrick invested money into a special savers bank account.
Each year money in the account earns 4% interest.

After one year, the total amount of money in the account was £291.20

How much did Patrick invest?

1049 = ¢141-30
'O/o: ‘lf

’00 0/(, z élg()

Ottawa is the capital city of Canada.
The population of Ottawa is 890,000.
This population is 2.5% of the total population of Canada.

What is the total population of Canada?

-7 % > 990,004
,'0/0 = 354000

[OO‘/o 2 ’55)400)00@
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Alamp is on sale at £22.05
This is a 10% reduction of the normal price.

What was the price of the lamp before the reduction?

QO% s 22040
| d, v 02T

100 % = 2450

4, Jacob buys a watch costing £84
This cost includes VAT at a rate of 20%.

How much is the watch without VAT?
[20% = F6%
(% > 0?
00 % = 70

© CORBETTMATHS 2014




Jennifer has 54 DVDs.
This number of DVDs is 80% more than the number she had last month.

How many DVDs did Jennifer have last month?

190 % = BY

19, = O E
100% > 30
-
(3)
6. Lauren is given a 12% pay rise.

Her new salary is £24,080

What was Lauren’s salary before the pay rise?
19, = 24060
' (/0 - ﬁ/‘g—
100% = 219500
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A limited edition bag of flour contains 25% more than the standard bag.
The limited edition bag contains 650g of flour.

How much flour is in the standard bag?
(&{%7: 65 O
|9 = 9
009 > ° *0

......................... g
(3)
A fish tank sprung a leak and loses 45% of its water.
There is now 363 litres of water in the fish tank.
How much water was in the fish tank before the leak?
ey = 5l
55% 565
U o [
|y = bt
IOO% - 650
........ b0,
(3)
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Mrs Reed buys a car costing £11760
This cost includes VAT at a rate of 20%.

How much is the VAT?

[0, = (IF0
1% ~ 4%
100, = qéao

11740 - 9800

(3)
10.  In a sale the price of a sofa is reduced by 70%.
The sale price is £255
Work out the price before the sale.
30 9, = &;5‘
|9 = ‘5 5
e il €
/ 90 ‘/c g 7 0
£ Z00.....
(3)
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There are 6000 people at an ice hockey match.
The announcer says this is exactly 40% more people that the previous match.

Explain why the announcer is incorrect.

140% = 600Q
/C/O - Q()\'g§;~‘- VJ% v a

100% = b 495-71... J
Since Hs N ‘/10:% e fﬂ,%t?/f)

Jf}@ oy acer muff K@ MOU
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